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1. Df ={(x%y): (x,y) € R®} = R?.
2. £(0,0) =2(0)2+(0)2+7=7
f(-1,2) =2(-1)2+()?*+ 7=13
(3,5 =23)2+((5)*+ 7=50
£(0,-1) =2(0)?>+ (-1)?+ 7=8.
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Dy={(x.y) €R? | y> -z - Lz #1}.
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Dy = {(z.y) €R® | xy > 0}
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Dy ={(z,y) eR? | (z—2)*+(y—2)* < 8}.
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(1) f=3x* =2y
(2) fi'=2e** cos3y fy = —3e** sin3y
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2. f(r.y) =2+ 2y* — 7
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3. f(’?‘ y) = e_l +ry+71‘+92.
af a
-a;(r, y) = (dz +y+7)f(z.y).
3;;@ y) = (z+2y)f(z.y).
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Fz(@y) = (24 (z + 29)%) f(z, y).

0_7:0?/(3 y)= (14 (z+2y)(dz + y + ) f(z, ).

4. f(z.y) = sin(z.y).

() (z,y) = ycos(zy).
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dy(f y) = wcos(zy). (;.{ (z,y) = —2?sin(zy).
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022 (z,y) = —y~ sin(zy). (';:r:({r; (x,y) = cos(zy) — zysin(zy).

Ll : 07 gl
(')Zf
— = —4e~%Y cos 2x
6152
ad
ik = 4e~?%Y cos 2x
dy?
9% f

72T a_y); = —4e~% cos 2x + 4e™ cos 2x = 0
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